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Introduction
This contribution clarifies the definition of the EIRP value at the target CDF for spherical coverage.
Background
For FR2, requirements for minimum EIRP at a fixed CDF percentile are defined in [1]; it is expected that similar EIS spherical requirements will be defined shortly. 
Especially for coarse spherical coverage measurement grids, the number of non-zero PDF values could be very limited which causes the CDF curve to appear staggered. One sample, simulated CDF curve is shown in Figure 1 for a coarse measurement grid (in this case, a constant step size measurement grid with angular spacing in  and  of 30o). 
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Figure 1: Sample CDF Curve for a coarse measurement grid

While for very fine measurement grids, the definition of the min EIRP at the target CDF, EIRPtarget-CDF, is pretty clear since the CDF curve is smooth, the definition of the EIRP value at the respective CDF target should be clarified for coarse grids with staggered CDF curves. Two scenarios are outlined in Figure 2; Figure 2a shows the case where the CDF is not met with any EIRP value while in Figure 2b, the target CDF is met with one (or more, as illustrated) EIRP values. For the case shown in Figure 2a, it is proposed to determine the min. EIRP at the target CDF based on an interpolation of the CDF curve between the top of raising edges located right above the CDF target (blue circle) and right below the target (green circle). For the case where the target CDF is met with one more or EIRP value, as illustrated in Figure 2b, define the min. EIRP at the target CDF as the min. EIRP value that meets the CDF target. 
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Figure 2: Illustration of CDF scenarios, a) CDF target is not met with any EIRP value, b) CDF target is met with one or more EIRP values.
Conclusion
The following proposal is made in this contribution. 
Proposal: For the case when the target CDF is not met with any EIRP values, it is proposed to determine the min. EIRP at the target CDF based on an interpolation of the CDF curve between the raising edges located right above the CDF target and right below the target. For the case where the target CDF is met with one more or EIRP value, define the min. EIRP at the target CDF as the min. EIRP value that meets the CDF target.
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